Name Date Class
TEKS 2A.9.D, 2A9.E

@ Technology Lab
&Ml Solving Square Root Equations and Inequalities

Use with Lesson 8-8

You can use a graphing calculator to solve square root equations and

inequalities.
Activity 1
Solve Vx + 4 = 3 by using a graph and a table. Flotd Fletz Flots
sY BT (44 )
Step 1 Enter \/(x + 4) for Y1 and 3 for Y2, :E?
as shown. NV
N
Step 2 Find the point where the graph of Y1 .
intersects the graph of Y2. Press
& to view the graphs of the N
functions. Find the intersection point or
points by pressing B3 (cALc)
and using the intersect feature. Jgsraection Iy
The screen shows that Y1 and Y2 have
the same value when x = 5. Therefore,
the solution of the equation Vx + 4 = 3 is
X =5.
Step 3 Check your answer by using a table to aH ':J:uss e
find the value of x for which Y1 equals Y2. 2 garih
Press EX)(TABLE). The table o £ )
confirms that Y1 and Y2 have the same B hbhd
value when x = 5. H=
Try This
Solve by using a graph and a table.
1. Vx+5=2 2. Vax=6 3. Vx—-1=3
4. V2x+2 =4 5. V-27x =9 6. Vx+ 18 =5
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@ Technology Lab
&Ml Solving Square Root Equations and Inequalities continued

Activity 2
Solve Vx + 6 = 2 by using a graph and a table.

Step 1 Enter \/(x + 6) for Y1 and 2 for Y2,
as shown.

Step 2 Press B to view the graphs of
the functions. The screen shows that Y1
is undefined when x < —6 and that Y1
and Y2 have the same value when
X= 2.

The value of Y1 is less than or equal to
the value of Y2 when x = —6 or when
x = —2. Therefore, the solution of the
inequality Vx + 6 =2is —6 = x= —2.

Step 3 Check your answer by using a table to
find values of x for which Y1 is less than
or equal to Y2. Press &) (TABLE).
The table supports the answer that Y1 is
less than or equal to Y2 when x = —6 or
when x = —2. Notice that Y1 is undefined
when x < —6.

] - |
whla=
wily=
“He=
W=
W=

Flakd Flet: Flotd
sSUET G D

V=2

Wz

Try This
Solve by using a graph and a table.
1. Vx+7 <1 2. VX—6>2
4. 4Vx+4 =8 5. vV-3x—-8>14
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3. v2x—1 =3

6. V—Xx+7<3

Holt Algebra 2



Answer Key continued

TECH LAB 8-5A

Activity 1
Try This
1. x= -2
2. x=-3
3. x=4
4. x=5
5, x=4
6. x = *2
Activity 2
Try This

1. x<4o0rx>6
7<x<8
x<-2orx=—1
X=—-4o0orx>—-3

4<x<10

AU

x<0orx>3

TECH LAB 8-5B

Activity 1
Try This
1. 6 days
Activity 2
Try This
1. 4 mi/h

TECH LAB 8-8

Activity 1
Try This
1. x=—1
2. x=9

x= -3

6. x=7
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Activity 2

Try This

1. 7<x< -6
. x>10
.x=5

2

3

4, -4 <x<0
5. x< -8

6

L2 x<7

LAB 9-3

Try This
1.

Holt Algebra 2





